SBOHIEN VVENLETE - SE2MEM VW RiEHLETE EITEED— K

(EREIER]
F2HmALD (a) 122,580
FIRFIFFES (b) 7,052
BHENNE 5,015
FEIBEN NE 990
FEEN E 1,047
BEALVER (c=b/a) 5.8%

(FBEMEIR : BEEUY—ERE]

iR/ 82
ANB 122 138 113.1% 124 0.0% 126 0.0%
ESERSEi BER/ 8 400 658 - 400 - 400 0.0%
AB 1 1 - 1 - 1 0.0%
EfTiEE BER/ 8 224 116/ 51.8% 248 0.0% 271 0.0%
SHE%R
AB 19 16| 84.2% 21 0.0% 23 0.0%
TENIEE BER/ 8 133 256 192.5% 133 0.0% 133 0.0%
AB 3 3| 100.0% 3 0.0% 3 0.0%
EEEEERS 0 0 - 0 - 0 -
TIEZIE AR 0 0 - 0 - 0 -
EENE AB/B 6,010 6,194 103.1% 6,070 0.0% 6,129 0.0%
AB 302 313| 103.6% 305 0.0% 308 0.0%
BT IR AB/B 49 23] 46.9% 49 0.0% 49 0.0%
(M) NE 3 1 33.3% 3 0.0% 3 0.0%
BT IR AB/B 176 125  71.0% 198 0.0% 220 0.0%
(&E5EINER) ANB 16 10|  62.5% 18 0.0% 20 0.0%
M IR AB/B 234 193]  82.5% 284 0.0% 334 0.0%
AB 14 11|  78.6% 17 0.0% 20 0.0%
FI Rt S ks AB/B 2,480 2,582 104.1% 2,520 0.0% 2,560 0.0%
B ¢ |am A/B 124 126| 101.6% 126 0.0% 128 0.0%
SEHR A E AB/B 5,562 5411 97.3% 5,667 0.0% 5,773 0.0%
BAY AB 316 318| 100.6% 322 0.0% 328 0.0%
P EEIE
A 7 4|  57.1% 8 0.0% 9 0.0%
PN AB/B 567 558 98.4% 599 0.0% 630 0.0%
(1EALRY) ANB 90 90| 100.0% 95 0.0% 100 0.0%
PN AB/B 11 18| 163.6% 11 0.0% 11 0.0%
(R ANB 2 4| 200.0% 2 0.0% 2 0.0%
AB 12 12| 100.0% 12 0.0% 12 0.0%
HEASEIER
AB 105 115 109.5% 111 0.0% 117 0.0%
oy, BN
ANAB 125 127| 101.6% 124 0.0% 124 0.0%
By AEER
ANAB 1 0 0.0% 2 0.0% 3 0.0%
STEEA &
ANAB 281 302| 107.5% 296 0.0% 311 0.0%
AResiE iR TR
ANAB 5 0 0.0% 6 0.0% 7 0.0%
I EEIE
ANAB 3 0 0.0% 3 0.0% 3 0.0%
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SEOHAEN LVMEALETE - SE2MAMEHN\ R IEHLSTHE

(BENMEIR : M 4RI IRSEE]

EITEED— K

IRR(TETE - BT
o =5 =HE| 100.0% e 100.0% =5 100.0%
ERIEE IR
=5 HE| 100.0% e 100.0% =5 100.0%
BEERNTIE _
N * i 3 3| 100.0% 3 0.0% 3 0.0%
SEIE TS 5 — RS
> - A 12,600 13,130 104.2%| 13,230 0.0%| 13,892 0.0%
BRSBTS — _
i - i 1 1| 100.0% 1 0.0% 1 0.0%
Ve || = FI
RAFRRRERIFIE A 11 8| 72.7% 12 0.0% 13 0.0%
FEERE - ENERERE
= = # 323 250  80.2% 355 0.0% 391 0.0%
FEERERE
e A 3 1 33.3% 3 0.0% 3 0.0%
. 2 3,031]  1,302] 43.0%| 3,183 0.0%| 3,342 0.0%
R (PSR
156 - Dl iERE 12 14| 116.7% 13 0.0% 14 0.0%
B AEESERE 34 28| 82.4% 36 0.0% 38 0.0%
rEREsTERS 36 14| 38.9% 38 0.0% 40 0.0%
195 - BREEER 25 12| 48.0% 26 0.0% 27 0.0%
Bt EEERe 2,021| 1,230 42.1%| 3,067 0.0%| 3,220 0.0%
R ER R AR 3 4| 133.3% 3 0.0% 3 0.0%
FEEHSERIHE
A 39 37| 94.9% 41 0.0% 43 0.0%
= 244 177 72.5% 256 0.0% 269 0.0%
BEZIE
A 49 38| 77.6% 51 0.0% 54 0.0%
& 33 39| 118.2% 35 0.0% 37 0.0%
Brh—b% e
A 167 150|  89.8% 173 0.0% 179 0.0%

(BEMER : REFUEICEDSY—ER]

=18 SN
R RIS AB 126 141 111.9% 133 0.0% 140 0.0%
. XE/B 691 980| 141.8% 729 0.0% 766 0.0%
IRERSE IR
= AE 147 183 124.5% 155 0.0% 163 0.0%
I ; XE/B 2,974] 3,531 118.7%| 3,130 0.0%| 3,286 0.0%
REREET A H—EX ' ' ' '
7 A A 286 327 114.3% 301 0.0% 316 0.0%
s XE/B 3 2 66.7% 3 0.0% 6 0.0%
REFZHRISIE
e A A 1 2| 200.0% 1 0.0% 2 0.0%
0, o) 0,
RS AB/A 9 [ 44.4% 19 0.0% 28 0.0%
A/B 2 1| 50.0% 4 0.0% 6 0.0%
ERNS 7 RCHI 31— %=
H—ORE A 1 ol  0.0% 1 0.0% 1 0.0%
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